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Drop-in Behavior Model Focusing on Repeaters
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B=&Hr BACK GROUND

Back ground

“Thank God, It’s Friday!”
165, TNUTTSEINS DEEIX

TENIX < DIFEIESZIFTTULINDH?0nly Friday? i
-5 &2 EUEERRHFESPELWIZ, SIEBVNOAEIRD (CBEHERE SRR

After-work leisure trips are also happy even on other days
Purpose
TFR/FODOFDEZE D LBV T HEZFD 20N

We want to know a way to increase after-work leisure!
P UTHBMLARIFD ([CHFDEOHEZIE I ARV

How can we manage it?

Make a model explaining the maxim of after-work leisure trip, then give a consideration

—S>HFDEDITENREZHATDIETILE/ER L, BRZ25X D




wezeis DE NS AFTER-WORK LEISURE 2

OXFBROFTDEDHIAEH CEERH(CZ <.
JKBEH (CMRLY  MON,FRI>>WED
OFF (CHBERE TBEr: BLW)] DOFDENZ L,

FIEHE THEY: BFE] DFDIENHZL ) MON->SHOPPING
3808 DEYHEOE FRI->DINNER
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shopping
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m 8% dinner

m jB: leisure

Trip times
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T15)RERRY AVG TIME TO GET HOME @

« PP&EF—4 >trip.csv Finish time of going-home trip

e |IBETRIPOREIFR A4 S0E occurred only after 5PM
o TRIPEAMN17EBIOED(IEIFEIT D O S (N D E 78 UBRSE

MON| TUE |WED | THU | FRI | SAT | SUN
19:47|20:21/20:49|20:25/20:41/20:39/19:30

20:30
:00
19:30
=]

A X K X = *

> AIEH(XIFERENELS, N~F(FEWNEWDEE
> (B%  ER23FEHS4EEEAFAE) Earlier on Monday, later on other weekdays
IEH : 18:56 THEH : 18:26 HiEH : 18:37
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Logit Model \ = i
—HOPwY bEFIL é

GHQ(Going home quickly)

HUENEFLHENWEERLIEGEDFYENRANETLELM

? C3fe restaurang
=
E'J'ﬂ? > palflf " store

etc...



JE—4—(CEE LB DiEITE <REPEATER!! §

OFDENUPITVGFrEFETIZE DN ?

where we can easily drop in?

11/2 17:38 [Ha%E] B > S—t>
11/27 1732 [H_%E] RBiF > 5—t>
HPPT—A>trip.csvk Wi H

1D:025
@
A

> [B Ut \DZFF DB HESE =11 /=Same place Dropping-in was observed

BRHEAH.

Q)

B D FCIESDEC A TR BB A DN ES B 2

HYP : place near office is where we can easily drop in
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Logit Model ' = p
—BEO>Y MEFTIL é o o

U

™ EE  HhE
GHQ(Going home quickly) After-trip leisure trip

2 FA B8 %% Utility Function
UGHQ = Vjt+g = IBSXTtime—GHQ TE

U IBZXTtime—Ieave+ IB3XTtime—Ieisure T 161 +‘92

V, +¢,

leisure



SIAEAEX UTILITY FUNCTION

S FAEAER Utility Function
UGHQ = Vjt+g = ﬂ3XTtime—GHQ TE

U IBZXTtime—Ieave T IB3XTtime—Ieisure T 181 +‘92
=i Z %% Explanatory variable
T,

time—leve : 3E<$:I:H%?ZIJ(5H#Z)> % OD%—_':ééj\[mln])
Ttime—GHQ : H&%H g es @%@H# FlEﬁ
time—leisure : Hgﬂéj}%ﬁ%ﬁ D :\'Eﬂﬁ){_iﬁ E %@%Eﬁ H#Fﬁlﬁ

=V, +¢,

leisure

T

—

Time_leve . tiImetoleave office (elapsed time from5pm[min])
< Time_cno - triptime:office — home
Time_teisure - triptime:office — cite — home

—



HEEFSSE ESTIMATING RESULT

v First Try..!  Ugo = Vitg = B X Tine-oro te,
Uie = Vot = B)XTineinet DX Tinesine 1 1 165
PARAMATER t-value
Time - |leave Ofﬁc[emin/lo] -0.0907 0767
Time - trip time -0.225 -0.453
[Min/10]
Constant(leisure) -0.0603 -1.16
BTV /8
FIHALE -54.07
ERAZILE -47.60
RIESRER 0.12

(ZE1IERIFRIERER 0.064



stHAZZ 2R DIENN ADD EXPLANATORY VARIABLE 9

HRESER Utility Function

Yehg = 14 - P3ime-GHq +g
Ueisre = Y27 = By Tine—teaie ™ 3 Timetisure + A+ (o) +5(INT) (D) =y (house) +2,

=i Z %% Explanatory variable
T . AIRFEREZI (B & D Z=457[min])

time—leve

Ttime_GHQ . Bk — B =2 O R EhhFE]
Ttime—leisure Hﬁ%ﬁﬁf (O Eﬂﬁ 'J_:"H E %@%%j] H#F'Eﬁ
(male): B S =—

(tomorrow) : 3 B K& tomorrow is off
(shopping): B L MR =—
(house): R—RAR Y > BIG— XAy




HEFGSE2 ESTIMATING RESULT #2

V1+51

Usho =

UIeisure

P3Thime_GHQ

PARAMATER t-value
Time - leave office -0.108 -0.64
Time - trip time 0.21 0.45
Constant(leisure) -3.14 -2.25
Male -1.33 -0.75
Tomorrow 3.88 2.33
Shopping 9.70 3.93
Near house -1.93 -1.09

10

-I-El

= Votey = BoxThimeteave™ P3¥Tiime-leisure T A ) +4 5(tmr) i G(Shp) * i (house) +2

B> T)LER 77
HEALE -53.4
S f Sy W= -10.8
IRIEHREN 0.80
(Z1EIF I RTEFHEN 0.67
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